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|. Short questions
Answer 7 of 8 questions only. Approximately 1/2 @ggr answer (max 5 point per question).

1.

2.

How can the equity-term puzzle be explainedims of habits?

In the study by Cgeu et al (2007) on organizational decision makirgdistinction
between group variety and group disparity is imgaréVhat is the difference between
the two notions and which group will make the kstisions?

In the theory of transformation pressure comgmare governed by variations in
current profits (see Erixon, 2007 and Erixon & Johannesg040). What are the
underlying psychological mechanisms?

Describe at least two of the main principleshef so-called prospect theory.

Assume that person A will receive a larger iaseein nominal wages than person B
but experience a lower increase in real wages. \lglaeorge Akerlof’s explanation
for why most people think that person A would begiar than person B?

Mention at least two of the indicators of owsiidence in the empirical study of
entrepreneurship by Koellinger et al. (2007).

There are two perspectives on anchoring effadtse psychological literature. What
are the two perspectives?

What kind of investments will be made by peagpith hyperbolic (time-inconsistent)
preferences and how will they finance consumptoosatisfy their immediate needs in
Laibson et al (2001)?

II. Essay question
Choose one of the questions only. Approximatelyga8es (max 15 points)

1.

Why will higher incomes not necessarily makénappier according to Frey and Stutzer
(2003)?What are the underlying psychological mechanisms?

Classify different psychological biases consedenn the course in terms of the two
dimensions of neural function in Camerer et al 00



